INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures | Emergency Relief Program (ERP) Phase 1 and 2 in cols. should be entered in item 13 of OMB-83-I: cols. (D) &/or (I) = 13a(respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

TITLE OF INFORMATION COLLECTION DOCUMENT

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (J)Average

CATION OF REPORTING OR RECORDKEEPING REQU			ANNUAL BURDEN						
				REPORTS					
				TOTAL BURDEN			RDEN HOURS		
		FORMS NO (S)	NO. OF	NO OF	OTAL ANNUAI	HOURS	(Col	. F x G)	NO. OF
ECTION C	DESCRIPTION	(If "none"	ESPONDENT	RESPONSES	RESPONSES	PER		(H)	RECORD-
REGS.		so state)		PER	(Col. D x E)	RESPONSE			KEEPERS
			R	ESPONDEN	Т		EXEMPT	NON-EXEMPT	
(A)	(B)	(C)	(D)	(E)	(F)	(G)			(I)
7 CFR 760, subpart S	Emergency Relief Program (ERP) Phase 1 Application	FSA-520	305,000	1	305,000	0.25		76,250	
7 CFR 760, subpart S	Customer Data Worksheet - ERP Phase 1	AD-2047	100	1	100	1.00		100	
7 CFR part 1400	Farm Operating Plan - ERP Phase 1	CCC-902	1,000	1	1,000	0.08		80	
7 CFR part 1400	Member Information for Legal Entities - ERP Phase 1	CCC-901	1,000	1	1,000	0.08		80	

7 CFR part 2	Highly Erodible Land Conservation (HELC) and Wetland Conservation (WC) Certification (exempt from PRA 16 U.S.C. 3846) - ERP Phase 1	AD-1026	1,000	1	1,000	0.08	80	
7 CFR 760, subpart S	Socially Disadvantaged, Limited Resource, Beginning and Veteran Farmer or Rancher Certification - ERP Phase 1	CCC-860	150,000	1	150,000	0.10	15,000	
7 CFR 760, subpart S	Request for an Exception to the \$125,000 Payment Limitation for Certain Programs - ERP Phase 1	FSA-510	9,000	1	9,000	0.08	720	
7 CFR 760, subpart S	Emergency Relief Program Phase 2 (ERP Phase 2) Application	FSA-521	48,402	1	48,402	1.00	48,402	
7 CFR par 1400	Farm Operating Plan for an Individual (Parts A & B) - ERP Phase 2	CCC-902I	19,361	1	19,361	0.08	1,613	
7 CFR par 1400	Farm Operating Plan for an Entity (Parts A & B) - ERP Phase 2	CCC-902E	19,361	1	19,361	0.08	1,613	
7 CFR 760, subpart S	Request for An Exception to the \$125,000 Payment Limitation for Certain Programs - ERP Phase 2	FSA-510	1,452	1	1,452	0.08	116	
7 CFR par 1400	Member Information for Legal Entities, if applicable - ERP Phase 2	CCC-901	2,420	1	2,420	0.08	202	
7 CFR part 2	Highly Erodible Land Conservation (HELC) and Wetland Conservation Certification (exempt from PRA 16 U.S.C. 3846) - ERP Phase 2	AD-1026	242	1	242	0.08	20	
7 CFR 760, subpart S	Emergency Relief Program Phase 2 (ERP Phase 2) Allowable Revenue Worksheet - ERP Phase 2	FSA-521A	2,420	1	2,420	1.00	2,420	

760,	Socially Disadvantaged, Limited Resource, Beginning and Veteran Farmer or Rancher Certification - ERP Phase 2	FSA-860	4,840	1	4,840	0.10		484	
7 CFR 760, subpart S	Customer Data Worksheet - ERP Phase 2	AD-2047	2,420	1	2,420	0.05		121	
	Crop Insurance and/or NAP Coverage Agreement - ERP Phase 2	FSA-522	48,402	1	48,402	0.17		8,067	
	SUBTOTAL				405,918		0	147,302	
TO TO	TOTAL OF ALL PAGES				405,918		0	147,302	
101	AL - COLUMNS "F" AND "T = OMB 83-1, 130; 				405,918			147,302	

ı	0560-0309 PREPARED by 25, 2023		
RECORD	S	RE	SPONDENT COST
	TOTAL		
ANNUAL	RECORD-	COST	TOTAL
OURS PE	EEPING HOUF	PER	COST
RECORD-	(Col. I x J)	HOUR	(Col. H x L)
KEEPER			
(J)	(K)	(L)	(M)
		\$50.38	3,841,475
		\$50.38	5,038
		\$50.38	4,030
		\$50.38	4,030

	\$50.38	4,030
	\$50.38	755,700
	\$50.38	36,274
	\$50.38	2,438,493
	\$50.38	81,283
	\$50.38	81,283
	\$50.38	5,852
	\$50.38	10,160
	\$50.38	1,016
	\$50.38	121,925

	\$50.38	24,385
	\$50.38	6,096
	\$50.38	406,415
0.00		7,827,487
0.00		7,827,487